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m;h- resuli of using the service password-encryption commang o 8 Ol

= The command encrypts the banner message.
= The command encrypts the enable mode _
{'E) f_,.‘::b All passwords in the configuration are not shown in clear text when viewing the
configaration. ' .
= Anetwork administrator who later logs into the device will be required to enter an
administritor password in order 1o goin access 1o the Cisco device.

21, Why would u Layer 2 switch need an 1P address?

7= 10 enable the switch to send broadcast frumes 1o attached PCs
* o enable the switch to function os o default gateway
* o enable the switch to be managed

= 1o enable the switch to receive frames from attached PCx
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the service password-encryption command oy | Che,

20What Is 0 result of using
network device?

= The command encrypts the banner message.
= The command encrypis the enable mode
Qﬂ’;" All passwords in the configuration are not shown in clear text when viewing the
configaration. '
= A network administrator who later logs into the device will be required to enter an
administrmor password in order to gain access o the Clsco device.

21. Why wonld » Layer 2 switch need an 11" addness?

E?"--_;‘;_ 1o enable the switch (o send broadcast frmes 1o mtisched PCs
*+ 1o enable the switch to function as a default gsteway
* tocnable the switch to be managed remotely
= loenable the switch to receive frames from attached PCs

11 How many hosts are addressable on a network that has o mkﬂmﬂ
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30.Give the network nddress 172.16.0.0
The network administrator should divide the address into three subnets,

« A:128 Hosts

« B:510 Hosts
« C: 10 Hosts

. 31. What is the difference between OS5I and TCP / 1P? Make it clear.
32. Both knew
» Institute of Electrical and Electronics Engineers.

\ = International Organization for Standardization.
= Internct Assigned Numbers Authority.
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e presentation layer S

« network layer

« physical layer
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11 H.eflrr to the exhibit. If host A sends an 1P packet to host B, what will the
destination address be in the frame when it Jleaves host A7

IP: 172.168.10.65 /26
MAC: BB:BB:BB:BB:BB:BB

1#:1 12.168.11.6% (¥
MALC: CE:CC:EE:LE:EE'.EE

=
99 126 P 172.168.11,88 126
WMM:M:#A MAC: 0D:DO-D0:00:00:00D

DD:DD:DD:DD:DD:DD
BE:BH:BB:BB:BB:BB

D’ 2 172.168.1099

7 L 172.168.11.88
" AAAAAAAAAAAA



17. Which three addresses are valkd public adidresses? (Choose three.)

H’{MMI_
172.19.1.245

@ e 10152505
/’ 172.255.255.252

17211600
o R
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7. Which two OSI mode
Ila
TCP/IP model? (Choose mfj“ R e functionality as two layers of the

» data link
- *_ network
e * physical
h  Application
e Transport

=
- 8.What is a characteristic of Carrier Sense Multiple Access/Collision Deection

(CSMA/CD) (Choose two).
» Does not detect collisions but attempts to avoid them by

i\‘] transmitting.
~ «_ detect the collision on the network.

/ e+ Uses a method to detect if the media is clear,
s Data sent by both devices will be corrupted

waiting before

W L
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26. What does the [p address 172,24.17.0/19 represent?

-~ network address

_‘_-..__ —— -

¥ ~.* multicast address
* host address

* broadcast address

27. What subnet mask is represented by the slash notation /207

255.255.255.248
e 2552552240
s £33.255.3400
e 255255.255.0
» 255.255.255,192

29, Refer to the exhibit. How many broadcast domains are there?
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IS, When packets are to be delivernd to ONLY & sabset of merwork nides we wonls
use what?
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